
Försäljning/Sales/Verkauf
Mossvägen 8, 641 49 KATRINEHOLM, SWEDEN
Telephone:	 +46 150 - 489550
Telefax:		 +46 150 - 489551
E-mail:		  zepro@zepro.com

Fabrik/Factory/Fabrik
Allévägen 4, 840 73 BISPGÅRDEN, SWEDEN
Telephone:	 +46 696 - 17200
Telefax:		 +46 696 - 17244
E-mail:		  info@zepro.com
Internet: 	 www.zepro.com

Z-LYFTEN PRODUKTION AB
55981

2011-02-21

Monteringssats / Mounting kit 57378
Renault Master 2010-
Opel Movano 2010-

MONTERINGSANVISNING 
INSTALLATION INSTRUCTIONS





3

Art. no 57378
ingående detaljer / included parts

Monteringsanvisning / Installation instruction

Pos. Benämning Description Antal/Qty Art. nr.
1. Chassifäste vänster Chassie bracket left 1 57368
2. Chassifäste höger Chassie bracket right 1 57375
3. Sexkant skruv M12x45 Hexagon screw M12x45 10 22213
4. Bricka DIN 125- A 13 Washer DIN 125 -A 13 10 20181

1 243

Hål för elektrisk jordskruv på chassiet /
Hole for electrical ground screw on the chassi



4

Monteringsanvisning / Installation instruction

1.  Demontera bakrampen på bilen. Lossa även den jord-
anslutning som sitter på ramen innanför.

1. Dismount the rear light bar on the truck. Dismount the 
ground point on the inside of the frame. 

2. Vik de inre flänsarna rakt bakåt så en plan yta erhålls. 

2. Fold the inner flanges straight back so a flat surface is 
obtained 

               

3. Montera fästena som på bilden. Skruva fast de med 
medföljande M12 skruv och bricka. 3 st skruv och bricka 
underifrån och 2 st vertikalt från insidan ram. Åtdragnings 
moment 81Nm

3. Install the brackets according to the picture. Use  
included M12 screws and washers. 3 pcs. screw and 
washer from underside, and 2 pcs. vertical from inside 
frame. Torque 81Nm

4. Montera lyften enligt ordinarie anvisning och återmon-
tera jordnings punkten på insidan av ramen. 

4. Assemble tail lift according to standard installation in-
struction and reinstall the ground connection on the inside 
of the frame. 
  

5. Beroende på påbyggnad, rekomenderas att täcka för 
de hål i ramen som skapas när man tagit bort bakram-
pen. (Detta ansvarar påbyggaren för)

5. Depending on the installation, it’s recommended to 
cover the holes in the frame that is created when you 
removed the rear light bar. (this is responsibility for body 
builder).

Vik de inre flänsarna rakt bakåt. / 
Fold the inner flanges straight back 


